2. Nlekcuka. Xo66u

HanuwmTe CI0Ba B NPaBuiibHbIe KOMOHKM, ECITA BO3MOXHO.
Write the words in the correct coloumn, if possible.
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:' BcrasbTe no6uTH 1K HEHABMAETD B NPaBUIbHON Gopme. ot
Complete the sentences with the verbs s06ume, HeHasudems >
in the correct form. B mo(zmo
Tol NKO6UWD
: OH/OHa NIO6UT
Elonenb:;é Mbl 06UM
; Bbl MO6UTE
 OHm66uT yai, Ho HeHaBANT KODe. OHYt MOGAT
HeHaBWAETb
1.8 rmon, HO Aas. (n -COI'Ij.)
2. Moii 6par KIHO, HO nnuteparypy. A HeHaBIKY
3. Mow poguitenu ronbd, HO cHOy64pA. Tbi HeHaBNALID
4B - - L OH/OHa HeHaBUANUT
; ecTpa aspobuky, HO LUOMUHT. Mbl HEHaBIfI,uInM
5. A v moi Apyr PyT64A, HO XOKKEiA. Bbl ’HEHaBVIU’JMTe
6. A uto BBl NK96UTeE 1 UTO HeHaBIAUTE? Sl
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